55 141360

109# = ix X A 47

kS SR E A

e A B A AR BT > B E R
CR AR AR B BN A R % R

T oFEouiAagAR

20w zEgE

SR

FL IR 3 (-

{;é‘ﬂi:ﬁ& 2’JEE“E }j:.‘%'fu

WAL ' OF L R* LTI FEE-

O3 AT+ 1§ PFRETATIR § 5 MR B A% L 0 AL (0 3T A
(_)dx;}iglﬁl‘grﬂ?’l—\,&gwé}\} )T:%x%'*’fﬂ\[d]?.g_mg
- ~ % - B (period) 5 2% #p 2 (periodic) & 5 P+ & 2 5L (continuous-
time signal) x(t) ; 2—1 <t<1eh® BFp > X(t) =120 #v chid = F sl
B ;¢ (Fourier-series expansion ) & = 4o #75p 03] 50 ¢

x(t)=A+Z(ak cos(kayt) + by sin(kegt))
k=1
(& | RE4s > £124)
Caw, =9
OA=7?
Eb1=?by=7bs=? (L: FRF=H2HA7 FH)

=~ Y e T A7or 2047 45 8 R 82 (initial-value problem) :
2

Mo A 2 A2 50 d—zy(x)+ziy(x)—3y(x)=2e‘ v A= 45 1% 2 (initial
dx dx
L , oy v U _—
conditions) : y(0) =1, y'(0)=-1 (y'(x) = &y(X)L HE)-e
(O A d gt e > 4738 g = 2 (homogeneous solution ) 3 ¢ 3530 0 fj}u
2

Lha dzy(x)+2—y(x) 3y(X) =0 « (74 )

o)k )%rﬁfw\’ #2 2V en— B 3 2 fF (particular solution) o (74 )
Gt kA= 4o i 2 B R e e f% (exact solution) - (64 )

=~ F BAeT #0n a8 B Rz (over-determined ) shAM B> S 4R

3Xx+2y=1
2X—y=5
X+4y=-2

Fed g S > S fg e end | T 3 2R X iR (least-square-error solution ) -
(104 )



i~ 5241360
Jox2-2

T~ B Ao Ar7 2 s (matrix)

2 6
A=
4 7
RS FUE 50 S % fcie (characteristic values » 7 £ eigenvalues )
(8%)
O$5 - BEFAE > RO R dce £ (characteristic vectors » 7= i

eigenvectors ) - (104 )

T~ gS it 1% % 8 (continuous random variables) X 22 Y » H & & %
& % & Jo# (joint probability density function) 4= #77 :
f(x y):{A-x~(1+ y?), for O<_x<1, O<y<l
0, otherwise
(=] 4854 » £204 )
O A=?
O% M fx ()™ & X e & 2 & S #c (probability density function) » 4
fx (X)="7
E%x 1 E(Y)R & Y adp ¥ @ (expected value) » 40 E(Y) =2
ME T % - BIE @SS Z=XY a2 % EQ)ir4 Z chih ¥ &
(expected value ) » Fd1 E(Z) =7

A B RSH@) =2 B 2 Al T B zExHiy (XY P

) i=J_>

(—) f@v 23 = @) =fx+iy)=uxy) +ivix,y) &3 ulx y)E v(xy) e
(4% )

OFEP ulX, y)& VX V) eF BAFERT s 3G -% & 2 425
( Cauchy-Riemann equations ) - (64 )

DT o b o f(Q)EFE 57 347 (analytic) S#c? (34 )

@4 T %7 AT o Fenl Rz ¢ s> w A l+04_ 3]0+ 10
dHe P E T A A ks [ f()dz - (T4)



